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Chapter 2
Balance sheets - what a company owns
and what it owes

SharePad is packed full of useful financial data. This data holds the key to understanding the financial
health and value of any company you are looking at.

To a new or inexperienced investor the mass of numbers may seem a little daunting. That’s quite
understandable but it shouldn’t be. If you understand basic arithmetic then you can understand a
company’s finances with a little bit of effort and the help of SharePad.

Most of the numbers that you will see in SharePad come from a company’s three main financial
statements. These are:

1. The balance sheet
2. Theincome statement
3. The cash flow statement

All these statements are linked and show how money moves around a company. To be a good
investor you need to understand what’s in these financial statements and what the numbers mean. If
you can master this, then you are well on the way to being a better investor.

I’'m going to explain the three main statements before getting on to how to use them. I'll start in this
chapter with the balance sheet.
First things first

Before a company can start generating sales and profits it usually has to invest some money to buy
things to help it do that. It will use money from its owners (shareholders) and possibly a bank loan to
buy things such as land, buildings, computers and stocks of goods to sell.

A balance sheet is arguably the most important of the three main financial statements. You should
study it closely before investing in any company. A thorough study of company's finances can take a
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long time. With SharePad though, you can breeze through one in a matter of minutes once you’ve
grasped the basics.
What is a balance sheet?

A balance sheet shows a company’s financial position at a specific point in time - usually the end of a
year. This is an important point. A company’s balance sheet tomorrow will look slightly different than
it does today. It is made up of all the company’s financial transactions over a period.

Companies publish their balance sheets every year in their annual report and accounts. Companies
listed on the stock exchange will publish them every six months and sometimes every three months.
Balance sheets always balance

As the name suggests a balance sheet always balances. It is based on something known as the
accounting equation which says that:

Net Assets = Shareholders’ Funds (or Equity)

I'll explain what these terms mean shortly but this is the way that most UK companies present their
balance sheets. Before we start looking at a real company’s balance sheet, I'm going to spend a little
bit of time showing you how a balance sheet works in practice.

Hopefully, once you understand the basics, you’ll be able to get a better understanding of a real
company from looking at its balance sheet.
John’s Property Company

Let’s look at a very simple example to see how a balance sheet works.

A friend of yours - let’s call him John - has inherited £50,000. He decides to buy a house for £100,000
to rent out. He uses £40,000 of his inheritance as a deposit and borrows £60,000 from a bank. He
keeps £10,000 on hand to spend on the house. John sets up a property company and his accountant
draws up the first balance sheet as shown in the table below.

John's Property Company Ltd Balance Sheet

Fixed assets (House) £100,000
Current assets (Cash) £10,000
Total assets £110,000
Liabilities (Mortgage) (£60,000)
Net assets £50,000
Share capital £50,000
Retained profits £0
Equity £50,000
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The balance sheet has two sides to it. One side lists all the company’s assets (what it owns or is owed)
and its liabilities (what it owes to others). The value of the liabilities is taken away from the value of
the assets to calculate a figure known as net assets.

The other side of the balance sheet looks at how those net assets are financed by the company’s
shareholders.

As you can see, the balance sheet balances. Net Assets does equal shareholders’ funds or Equity. I'll
explain some of the terms you find in a balance sheet shortly. Hopefully, what you'll see is all the
transactions reflected in it.

Assets of the house and the cash add up to total assets of £110,000. Take away the outstanding
mortgage of £60,000 and we are left with net assets of £50,000. In the US, net assets might be
referred to as net worth and is an estimate of what might be left over if all the assets were sold and
all the liabilities were paid off.

On the other side of the balance sheet, there is the £50,000 that John inherited and invested in the
business which is shown as share capital. The rest of the balance sheet is made up of reserves. The
most significant one is retained profits - profits that have been earned but not paid out to
shareholders. This is zero because the business hasn’t made any profits yet. So shareholders’ funds
are £50,000 - the same as net assets.

How new transactions affect a balance sheet

Every financial transaction a company makes will affect the balance sheet. But it will still always
balance. I'm going to show you a couple of examples to show you how this works out in practice.

John decides to spend some money on the house to make it more appealing to potential tenants. He
spends £5,000 on furniture and a new central heating system. This is how the balance sheet evolves
after he has done this.

John spends some money

Before Furniture +CH After
Fixed assets (House) £100,000 £5,000 £105,000
Current assets (Cash) £10,000 (£5,000) £5,000
Total assets £110,000 £110,000
Liabilities (Mortgage) (£60,000) (£60,000)
Net assets £50,000 £50,000
Share capital £50,000 £50,000
Retained profits £0 £0
Shareholders’ funds £50,000 £50,000
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Again, the balance sheet balances and the net assets and equity are still £50,000. All that has
happened is that the cash balance has gone down by the £5,000 spent by John and the fixed assets
number has gone up by the same amount to reflect the money that has been spent on furniture and
the central heating system.

No new money has come into the business, nor has any profit been made so the shareholders’ funds
or equity number is unchanged at £50,000.

John makes a profit

Before Profit After
Fixed Assets (House) £105,000 £105,000
Current assets (Cash) £5,000 £5,000 £10,000
Total Assets £110,000 £110,000
Liabilities (Mortgage) (£60,000) (£60,000)
Net Assets £50,000 £55,000
Share Capital £50,000 £50,000
Retained Profits £0 £5,000 £5,000
Shareholders’ Funds £50,000 £55,000

John soon finds some tenants and after a year he finds he has made a profit of £5,000 after he has
paid out all his expenses and paid the taxman. He decides to retain this profit in the business instead
of paying himself a dividend.

This profit has an impact on both net assets and shareholders’ funds. Net assets goes up by £5,000 to
reflect the cash going into the business. Shareholders’ funds goes up by the same amount to reflect
the profits retained. Again the balance sheet balances with net assets and shareholders’ funds of
£55,000

Balance Sheets for US companies

I've shown you how a balance sheet is presented for UK companies if you were to read their annual
reports. If you are looking at the balance sheet of a US company in its annual report you will notice
that it is laid out differently. This is nothing to worry about. The numbers are still the same and the
balance sheet still balances.

Let me explain how it’s done.
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Remember the accounting equation for UK balance sheets:
Net assets = Shareholders’ Funds (or Equity)
This is the same as saying:

Total Assets - Total Liabilities = Equity

(because total assets less total liabilities equals net assets)
Which is the same as saying:

Total Assets = Total Liabilities + Equity

(using some basic school-level maths)

So if John’s company was in the US and his finances were in dollars rather than pounds the balance
sheet would look like the one below.

A US Balance Sheet format

Fixed Assets (House) $105,000
Current assets (Cash) $10,000
Total Assets $115,000
Liabilities (Mortgage) $60,000
Share Capital $50,000
Retained Profits $5,000
Equity $55,000
Total Liabilities plus Equity $115,000

As you can see, the balance sheet balances just in a slightly different way. On one side of the balance
sheet are all the company’s assets. On the other side are all the company’s liabilities and the
shareholders’ equity.

You don’t need to worry about how balance sheets are laid out. It’s what the numbers mean to you as
an investor that really matters.

I've shown you the US format of a balance sheet, because that’s how you will see the balance sheets
of companies in SharePad. They will be split into three main sections.

e Total assets
e Total liabilities
e Total equity.

You can see an example of a SharePad balance sheet below.
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The balance sheet of Tesco plc

»sco PLC (TSCO)
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Debtors 4,845.0 3,166.0 3,629.0 3,907.0

Stock & WIP 3,162.0 3,588.0 3,744.0 3,576.0
Securities 1,170.0 1,284.0 520.0 1,006.0
Cash & eguivalents 24280 2,305.0 25120 2506.0
Other 431.0 510.0 631.0 24870
Current assets 12,039.0 12,863.0 13,096.0 15,572.0
Intangible 4,338.0 4 5618.0 4 .352.0 3,795.0
Tangible 28 281.0 277010 28 871.0 24 T17.0
Investments 2,393.0 3,675.0 24590 1,782.0
Other 2175.0 1,924.0 3,341.0 4 258.0
MNon-current assets 35,167.0 37,9138.0 37,033.0 34,552.0
Total assets 47,206.0 50,781.0 50,129.0 50,164.0
LIABILITIES
Current liabilties 17,731.0 19,2490 18,9850 21,3890
Mon-current liabilities 12,8520 13,731.0 14 483.0 14,043.0
Total liabilities 30,583.0 32,980.0 33,468.0 36,4420
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Share capital 5,288.0 5,366.0 5423.0 5,485.0
Total retained profit 11,197.0 12,164.0 10,535.0 97280
Other rezerves 40.0 2450 685.0 (4598.0)
Shareholders funds (MAV) 16,535.0 17,775.0 16,643.0 14 715.0
Winorities a38.0 26.0 18.0 7.0
Total equity 16,623.0 17,601.0 16,661.0 14,722.0
Total liabilities + equity 47,206.0 50,781.0 50,129.0 50,1640

All balance sheets work on the same basic principles. It’s just the number of transactions that go into
them which is different. In short, assets are what a company owns. Liabilities are what it owes. Equity
is the value of the shareholder’s stake in the firm since it began trading. This is equal to the amount of
money they have invested plus any profits that have been retained in the company. It is also the same
as the company’s total assets less its total liabilities.

Above is Tesco’s balance sheet as you will find in SharePad. I'll now explain the main terms within it.
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Current assets

Current assets are assets that are expected to be turned into cash within one year of the balance
sheet date. The main types of current assets are as follows:

Stock and work in progress

Stock (called inventories in the US) is generally defined as goods held for resale. Work-in-progress is
goods that are part finished. Raw materials used to make goods may also be included within stock and
work-in-progress. Tesco was holding £3.57bn of stock and work-in-progress at its balance sheet date.

Debtors

Debtors are amounts of money that are owed to the company. Sometimes in SharePad it is not
possible to separately disclose the different types of debtor. However, in most cases, the biggest type
of debtor for a company is known as a trade debtor. This is money owed to it by customers for goods
and services sold where the cash has not been received. The most common way a trade debtor is
created is by selling goods or services on credit.

Tesco had £5.5bn of debtors (less prepayments) at its 2014 balance sheet date. This should end up as
cash that flows into the company’s coffers during the next year.

Prepayments

Prepayments are created when a company pays for services in advance but has not yet received
them. This might be something like paying for stock which has not been delivered. They are treated as
an asset because they are effectively owed to the company. Tesco had prepayments of £369m at its
last balance sheet date. There is of course a risk, normally very small, that the goods or services won’t
be delivered and that the money will have to be written off.

Securities and cash

A company may decide to put some surplus money into bonds or shares to earn a higher return than
cash in a balance sheet. These are classified as securities. Cash doesn’t need any explanation. Tesco’s
last annual balance sheet had cash and securities totalling £3.6bn.

Non-current assets

These are assets that are intended for continued use in the business and not for sale. They are usually
divided into three main categories:

e Intangible assets
e Tangible assets
e |nvestments

Intangible assets
These are assets that you can’t physically touch. They include things such as:

e Brands

e Patents

e Trademarks

e Publishing titles

e Goodwill - the amount paid over net asset value when buying another company
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Intangible assets can be bought by a company or developed within it. They are not always easy to
value and there are rules for how these are presented on the balance sheet. The values you will see
are net values after a charge known as amortisation has been deducted.

Amortisation is a cost incurred each year that companies are required to charge against their
revenues which in turn reduces their profits. This annual expense is meant to match the cost of the
intangible assets against the revenues that they generate over their remaining useful lives.

So if a company had an intangible asset with an original cost of £10 million that had a life of ten years
and would be worth nothing after that, a company might choose to evenly charge £1m per year in
amortisation (known as a straight line method of amortisation.

Some businesses such as pharmaceuticals, computer software or consumer goods companies can
have very large intangible assets on their balance sheets. Tesco has £3.8bn.

Tangible assets
These are physical assets that you can touch. They are used in a business over a number of years
often to make goods that are to be sold. The most common tangible assets are:

e Land and buildings
e Plant and machinery
e Motor vehicles

e  Fixtures and fittings

The figures you will see on the balance sheet are what are known as their net book values. These are
calculated by taking the original cost of the asset less the amount of accumulated depreciation.

Depreciation is a very important number in a company’s financial statements. It is similar to
amortisation and is charged against the value of an asset over its estimated useful life. It can be
interpreted in different ways such as the loss of value of an asset or an estimate of the annual amount
of money that a company needs to spend in order to maintain the asset in its original condition.

Tesco has a lot of tangible assets - supermarket buildings and all the fixtures and fittings inside them
(such as shelves, fridges and tills) as well as the land they are built on - and they are by far the biggest
part of its balance sheet totalling £24.7bn.

Tesco’s total assets (current plus non-current assets) were £50.164bn at the last balance sheet date.

Investments

This figure will include the value of stakes in other companies (where the ownership stake is 50% or
less) known as joint ventures and associates. It will also include long-term investments in shares or
bonds.
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Current liabilities

These are liabilities that the company usually has to pay within one year of the balance sheet date.
They can include:

e Bankloans

e Tax owed

e Trade creditors - amounts owed to suppliers

e Accruals - an estimate of an amount for goods and services used but where no bill has been
received.

Tesco had £21.4bn of current liabilities at its balance sheet date, mostly made up of trade creditors.

Non-current liabilities

These are liabilities due after one year. The most common items in this category are:

e Long-term borrowings

e Deficits of final salary pension schemes

e Provisions - amounts set aside for future costs based on a decision already taken. e.g.
demolition of a factory site.

e Deferred tax - tax payable in future years

All these total just over £14bn for Tesco.

Tesco’s total liabilities added up to £35.4bn at its 2014 balance sheet date. Take this number away
from the £50.164bn of total assets and there is £14.7bn of net assets left over.

Equity

This is the sum of share capital plus reserves. The main items of equity are:

e Share capital - there are different kinds of share capital. The most common type is ordinary
shares. The value of share capital is the number of shares that have been issued multiplied by
a nominal or par value. This is the minimum amount that shares can be issued for. In Tesco’s
case this is 5p per share.

e Share premium - is the amount above par value paid for a share. So if Tesco issues and sells
1,000 shares for 100p each, £50 is allocated to share capital with the remaining £950
allocated to the share premium account.

e Retained profits - profits that have been made by the company that haven’t been paid out as
dividends to shareholders.

In very basic terms, the shareholders’ equity of a company amounts to the amount of money paid in
by shareholders (share capital + share premium) plus all the retained profits. In 2014, this figure was
£14.7bn for Tesco. As a balance sheet must balance, this is equal to the value of its net assets.

All these numbers in the balance sheet help to explain a company’s financial position. As for what
they mean for you as an investor, I'll tell you in the next chapter.
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